FEREARGIEH #) 3 Aoy (CERkl124F) 3 AR~

JLix JLix JLix

X a7 A i X a7 A i X 5 A ] A

% LS At % % LS At iy % LS i LS
WL | 298,230( 319,432| 617,662| 243,340|% B HT 5, 656 6,186 11,842 3,930 HE A 538 612 1, 150 379
£ | 209,938| 220, 264| 430,202 155,543\l F A 2, 020 2,138 4, 158 Loospl k& 1,233 1,319 2,552 784
HoL | 42,484| 46,395 88,879 33,2253 B AT 2,816 2,907 5,723 1L, 732V W K 1,498 1, 668 3, 166 950
£ B | 34,608 36,956 71,564 26, 344|fs FHOET 3, 852 4,010 7, 862 2,299 Fn & 430 439 869 284
M fH tH| 28,726| 31,557 60,283 21,876|4 Ot HT 5,957 6,461 12,418 4,024 % B 2,721 3,021 5, 742 1,825
H | 17,251 18,592 35,843 11,5308 J7 HT 9,548| 10,080| 19,628 6, 241| & il 452 488 940 343
¥ f#E di| 27,318]  29,064| 56,382 18,093|%F & HT 3,237 3, 666 6,903 2, 282 A HT 905 1,027 1,932 680
moO% | 11,133 12,432 23,565 8, 486|H. . HT 5,272 5,651 10,923 3, 529| k& BAS 450 497 947 319
#OR TH| 11,782 12,830 24,612 8,237|%& Hf ur 8,102 8,796| 16,898 5,031|F W K 337 373 710 222
fi§ ®7 il 14,161 15,263 29,424| 10,791|% B T 2,873 3, 086 5, 959 1,789|8% % T 5, 729 6,180 11,909 4, 000
i} FH| 695,631 742, 785 | Hit#HHAY | 537, 46575 - WT 3, 000 3, 345 6, 345 1,988\ H T 1,907 2, 147 4, 054 1, 431
(R 5,010 5,575 10,585 3,589 EL f# HT| 11,404| 11,999 23,403 7,035 v HT 5,599 6,055 11,654 3, 689
A T 3,438 3,810 7,248 2,479\ #E HT 1,379 1, 490 2, 869 888|4 & Wy 3,434 3, 484 6,918 2, 381
0 s 1| my 3, 069 3,326 6, 395 2,4504t &= HT 3, 160 3,515 6, 675 1,867|F db HT 3, 567 3, 964 7,531 2,539
L) 7,024 7, 859 14, 883 5, 193|& B HT 4,232 4,416 8, 648 2,662| Kk WY 2, 422 2,577 4,999 1, 700
B ET| 12,188 13,291 25,479 8,294k M9 HT 2,827 3,218 6, 045 2, 1TT| 3 H E & 4 716 778 1, 494 448
R P HT 2,522 2,775 5,297 1, 6441l my 2, 055 2,202 4, 257 1, 381|74 BE & A+ 877 966 1,843 539
Re (L HT 4, 063 4, 282 8, 345 2,633|fH M 1, 530 1,652 3, 182 1,170 £ w7 6, 368 7,002 13,370 4, 689
e 2,723 3,078 5, 801 1,920k & HT 1,917 2,120 4,037 L1914 &= HT 3, 846 4,143 7,989 2, 680
H 4 W7 4, 256 4,721 8,977 3, 0824 4 HT 1, 280 1, 420 2,700 832|5% H HT 1,780 1,906 3, 686 1,242
ok HT 2, 592 2, 850 5, 442 L7713 £ Wy 1, 994 2,081 4,075 1,196|# d= my 3,573 3, 874 7,447 2, 561
(=) 2, 020 2,282 4, 302 1,391 w6 mr 1, 562 1,793 3, 355 1, 0721/, 7 1,749 1,867 3,616 1,181
& HT 6, 124 6,800 12,924 4,509|B5 1 HT 4, 557 5,007 9, 564 2, 941\ K g T 3,041 3, 346 6, 387 2,273
4B ONT 3,714 4,232 7,946 2,774\ & W7 7,732 8,396| 16,128 4, 7138 2k HT 3,871 4,216 8, 087 2,578
=R/ N T 9,474| 10,348| 19,822 6, 069|%5 Ji HT 1,736 1,988 3, 724 1,250/ JsU HT 3,376 3, 697 7,073 2, 462
£ iy HT 6,074 6,405 12,479 3, 942/8 i mT 5, 630 6,212 11,842 3, 831/ 2 60,419| 65,646| 126,065| 42,179
WOy BT 7, 869 8,360| 16,229 4,801 H A 909 957 1, 866 553|MT A Eh| 248,816| 270,432 519,248 167,431
/N | 82,160 89,994| 172, 154| 56, 550)/ | 106,237 114,792| 221,029| 68, 702|% G| 944, 447 | HERHHHEY | HHEEHHEE | 704, 896










